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| PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.
| Then mark the correct choice on your answer sheet.

I- In spite of the considerable effort --—-----, many questions still remain unanswered, thus
justifying continuous research in this field of inquiry.
1) taken 2) wasted 3) invested 4) intended

2-  The fact that "innovation" is frequently alluded to not only —-—--- the importance of the

topic but also generates much confusion, because its meaning depends strongly on the
context in which it is used.

1) highlights 2) circumvents 3) alleges 4) cites

3-  He was stopped by the police for transgressing the law; he had actually been driving faster
than the speed -—----- -—
1) calculation 2) permit 3) monitoring 4) limit

4- I thought he was really hurt and became worried but later | realized that he was just

R

1) emerging 2) faking 3) revealing 4) deserving

5-  Irene’s arguments in favor of his client's innocence were s0 ——---n--- that no jury member
could resist them.
1) colloguial 2) enthusiastic 3) cogent 4) competitive

6-  Believe it or not, laughing is considered to be one of the easiest ------ --— exercises that can
cure many diseases.
1) transparent 2) benevolent 3) provocative 4) therapeutic

7-  While Alex is very spendthrift and spends money recklessly, his brother Stew is quite
------- and spends only when it is necessary,
1) thrifty 2) assiduous 3) gregarious 4) grumpy

8- Chronic illness can -——------ people in hospital. But what if they could access all the care
they needed at home in virtual wards?
1) suffer 2) necessitate 3) trap 4} involve

9-  The underlying message of the film is that love can transcend all -—--- —
1) impacts 2) barriers 3) analogies 4) interjections

10- It is no use arguing over such a trifling matter; instead we should discuss the matters of
importance and ---—--- :
1) pragmatism 2) facility 3) priority 4) jeopardy

PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| cach space. Then mark the correct choice on your answer sheet.

Genetically modified superhumans. Babies born with made-to-order characteristics. The
idea has been explored in everything from academic journals (11} -----e-e-- movies.
CRISPR technology could make it (12) ——=-=mmmm-,

The ability to alter human genes in a way that can be passed onto offspring,
(13) ===------- germline engineering, has long been possible. But (14) ----s-m--
genetically modify animals were so inefficient and crude (13) ----——---- no sane biologist



11-
12-
13-
14-

would dream of using them on humans. Tinkering with the genes inside people has been
limited to gene therapy, where the changes don’t get passed to the next generation.

1)in 2) through 3) for 4) to
1) to be real 2) as real 3) a reality 4) being a reality
1) called 2) 1o be called 3) which called 4) 1s called

1) until recently the methods available to

2) the until recently methods available to

3) the methods available to until recently

4) until available to recently methods

1) as 2) that 3) because 4} such that

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing
the best choice (1), (2), (3), or {4). Then mark the correct choice on vour answer sheet,

PASSAGE 1:

Gestalt therapy is an exploration rather than a direct modifving of behavior. Gestalt
therapy facilitates problem solving through inereased self-regulation and self-support
by the client. Beginning clients are usually concerned with the solution of problems. As
therapy goes on, the client and the therapist turn more attention Lo general personality
issues of the client.

The Gestalt therapy method involves contacting and focusing of awareness. The
therapist actively engages with the client. Rather than maintaining distance and
interpreting, the Gestalt therapist meets the client and guides active awareness work.
The therapist's active presence is alive and warm. honest, and direct. As appropriate.
clients are told how they are experienced, what is seen, how the therapist feels, and what
the therapist is like as a person. Growth occurs from real contact between real people.
Clients learn how they are seen and how their awareness process is limited, not primarily
from talking about their problems. but how they and the therapist engage each other
around the process. The focusing runs the range from therapist empathy to exercises and
experiments. The therapist attitude is to provide direct experience, not interpretation.
The task in therapy is to have the person become aware of previously alienated parts and
explore them and assimilate them if they want to.

Simpkins and Yontel describe three descriptive therapeutic principles: I and Thou,
What and How. and Here and Now. The | and Thou principle describes the horizontal
relationship between client and therapist. Therapists as well as clients show their full
presence. Both are responsible for themselves. Therapists are responsible for the quality
and quantity of their presence, for knowledge about themselves and the client. for
maintaining nondefensive posture, for keeping their awareness clear and for establishing
and maintaining the therapeutic climate.

What is the passage mainly about?
1) A therapeutic process 2) Responsibilities of a therapist
3) The client—therapist relationship 4) The main tenets of Gestalt psvchology
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18-

19-

21-

According to the passage, Gestalt therapy --—--————-- :

1) does not focus on problem solving

2} 15 based on awareness raising

3) works best for beginning clients

4) 1s a method of direct behavior modification

The word “them™ in paragraph 2 refers to -——-——------ :

1) tasks 2) therapies 3) therapists 4) parts
Which of the following statements about the therapist—client relationship is NOT true
according to Gestalt therapy?

1) The client is seen as an active participant.

2) The therapist has a supportive attitude toward the client.

3) The client learns about the therapist’s personality and feelings.

4) The therapist tries to give delayved and implicit feedback to the client.
What does the paragraph following the passage most probably discuss?
1) Another therapeutic principle

2) Getting information from clients

3) Important notions in Gestalt therapy

4) Simpkins and Youtef’s experiences as therapists

PASSAGE 2:

In the vears between 1802 and 1809, Herbart succeeded in making a name for himself
not only as a philosopher, but also as an educational specialist through his many
publications. The idea of educational teaching is central to Herbart's theory of education,
which is founded on experience and on philosophical reflection. Like practical and
theoretical educationalists before him. Herbart also makes a distinction between
education and teaching. "Education" means shaping the development of character with
a view to the improvement of man. "Teaching" represents the world, conveys fresh
knowledge. develops existing aptitudes, and imparts useful skills. Herbart's reforming
pedagogics revolutionized the relationship between education and teaching. A new
paradigm of educational thinking and educational action was thus created.

Herbart described two contrasting routes ol educational reflection. The first —that of
analytical-educational thought- begins with his own experience and experimentation. It
leads initially to empirical pedagogics and then on to a philosophical theory of
education. This route enables the concepts that dominate the range of experience of the
person who starts out as a layman to be "explained" in increasing depth and to be "made
clear" through an ongoing process of philosophical reflection. This route of educational
thinking makes philosophy dependent, if only partially, on pedagogics. The second
route, that of speculative thinking establishing a synthesis, starts out from the principles
of a philosophical system that already exists and develops a theoretical and practical
doctrine of education from them.

What does the passage mainly discuss?

1) Influential theories of education

2) Herbart’s concept of educational teaching

1) The education system of the early 19" century
4) Herbart’s works in philosophy and education
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22-

23-

24-

26-

According to the passage, Herbart --——--—--— .

1) couldn’t find any use for his philosophy in education

2) wasn’t willing to make changes to the existing education system

3) emphasized the role of experience and philosophy in education

4) was the first educationalist to make a distinction between education and teaching
The word “them™ in paragraph 2 refers to -————---- -

1) routes 2) systems 3) principles 4) doctrines
According to paragraph 2, in the second route of educational reflection ---—------- -
1) education is treated as an independent entity

2) pedagogics become dependent on philosophy

3) experience and experimentation form the basis

4) education is believed to be theoretical rather than practical

The author has used all of the following methods of idea development EXCEPT

1} quotation 2) description
3) definition of terms 4) comparison and contrast
PASSAGE 3:

In the earlv days of school counseling, counseling and other guidance services were
sometimes a function of part-time teacher-counselors. Generally, a teacher with little or
no training in counseling was released from teaching for a short time each day to do the
counseling job. In such a part-time role, little time was available to develop the counseling
relationship. even if the 'counselor” had the necessary skill to do so. Therefore, much of
the counseling consisted of little more than the giving of advice and information. The
counselor was viewed primarily as a person who could provide information about getting
into college or getting a job. With mainly vocational and educational problems being
brought to the school-counselor, self-disclosure by students seldom went beyond the
surface level. In the past decade. with better-trained counselors being hired in full-time
counseling positions, evidence began to appear that students now trust counselors enough
to discuss their personal concerns with them. Thompson reported that among school-
counselors' preferred and nonpreferred students, three problem categories (vocational,
emotional, and educational) were discussed in counseling interviews. It was observed that
more problems from the emotional category appeared among the counselors' nonpreferred
counseling group. Thompson's study would seem to support the notion that students are
more comfortable in discussing emotional or personal concerns than the counselor is in
listening to them. As Schofield pointed out. most professional therapists prefer to work
with patients having fewer and less serious problems and, consequently, a higher
expectancy for improvement.

According to the passage, all of the following were characteristics of counseling in the past
EXCEPT it ---—------ -

1) didn’t go beyond giving advice

2) wasn’t considered a profession by itself

3) was the main responsibility of the teacher

4} was limited to education or job-related issues

The word “them” in line 19 refers to ---——--mee--- -,

1) notions 2} concerns 3) students 4} counselors
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According to the passage, counseling appears to have changed in terms of all of the
following EXCEPT --
1) the teacher’s interest in counseling

2) the counseling relationship

3) the training the counselors receive

4) the problems discussed in counseling interviews

Why does the writer refer to Schofield in the passage?

1) To introduce a professional therapist

2) To explain why patients have lost interest in therapy

3) To provide evidence in support of Thompson's findings

4) To discuss the advantages of his study over Thompson’s

Which of the following best describes the author’s attitude toward changes in school
counseling in the past decade?

1) Amused 2) Skeptical 3) Indifferent 4) Favorable
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